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Warm Up

Complete the statement, and tell the property that is demonstrated.

I.  If mA=ms3 then ms3= N
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> IfAB-CDand CD=TU.then [T 12 = [ U
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3. IfRS= WX, then L{S+ AB = M+ AB AJ(} l.'f"oh
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2-6  Proof with Segments and Angles

Segment congruence and angle congruence is
reflexive, symmetric, and transitive.

A=A

AB: DC;’;(:A'B
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Ex 1 Name the property illustrated by each statement.

If ~RST = /MNP then MNP = RST

5\1 LA P L *V;L Pfd’,).

AB=~FG and FG=MN then 4B =~MN
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Ex2  Write a two column proof

—~—\
Given: M is the midpoint of 45 *—+—%— ?
N is the midpoint of p
AB=CD L
Prove: AM=CN
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Ex 3  Write a paragraph proof.

Given: wmi~ABD = m.~CBE
Prove: m~1=m.3

\alg levons = ‘ADDg"'\chEB'

MEARD = ML) i Lecause
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Also w ¢ CBE= L2 e L
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Ex 4 Write a flow proof.

Given: ;/1=m/3

Prove: m/EBA=m/DBC
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